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1.

2.

3.

afe p 3R g oAt G9==7 {1,2,3,4} F &,
ﬁpﬂ+qx+1=0%m%aﬁwﬁ,
5 Ho aredfes o, S ge T E ?

(a) 12
(b) 10

(©) 7
@ 6

1-2+3—-4+5—.....+ 101 |HIF T

??

(@) 51

(b) 55

(© 110

@ 111

IR 4, B R C Tt fog g ag==a &

SqEg=Eg §, ar frafafea &gt § @
FET Gy TE AE ¢ 2

(a) AUANB) =-AUB

- (b) AN(4UB) = A4

(c) (ANB)UC = (AUC)N(BUC)
(d) (AUB)NC = (ANC)UBNC)

.aft feft Soft F wom 7 9E = FeEa

(n+12) ®, A7 60 G0 95 FAT ® ?
Gyl |
(b) 2

(c) 3

d) 4

BEM-D-HTM - A

5. k<l 9% WA w1 ¢ fomes ferg

22— 2(k—-2)x—(k+1)=0 & Hql &
AT T ARTHSA JAaH & ?

(a) -1
(b) 1

3
(c) E
(d 2

. gfe g

a(b—c)x*+b(c—a)x+c(a—b)=0

& Ao 9 &, ot Feafafea § @ .

qHer 2

(a) a, b3 c, APH

(b) a,b3Rc, GPHE

(c) a,b3Rc,HPH &

@) a,b 3K c Rt B Fafm Yt =
TS el R

Trﬁ,’ ’x2—3x+2‘ = x2—3x+2 %, i

@i d o mad 2 ?

(@ x<1qTx=2

(b) 1sx<2

() 1<x<2

(d) x T HiS | ARAIH AT B Fepal
g REm3sa s

. T IR S (GP) # 200 9E ¥ |
 gfe 5@ GP & foww w3t =1 avrrRa m B,
3R ¥ 9SI 1 ANTHA n'®, AT SHEHT AT

AT T § ?
(a) m/n

(b) n/m

(c) m+(n/m)
(d) n+ (m/n)
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1.

If both p and g belong to the set
{1, 2, 3, 4}, then how many equations
of the form px? + gx + 1 =0 will have
real roots ?

(a) 12
(b) 10

() 7
d 6 /

. What is the value of

1-2+3-4+5—.....+1017?
(a) 51
(®) 55
(c) 110
(d) 111

.IfA, B and C are subsets of a given set,

then which one of the following
relations is mot correct ?

(a) AU(4NB) = AUB

(b) AN(4UB) =4

(c) (ANB)UC = (4UC)N(BUC)
(d) (AUB)NC = (ANCYU(BNC)

If the sum of first n terms of a series is
(n + 12), then what is its third term ?

(@ 1
(b) 2
() 3
d 4

5. What is the value of k for which

the sum of the squares of the roots

- of 22— 2(k—2)x — (k+ 1) = 0 is mini-

mum ?
(a) -1
(b)
(c)

1

3

2
d 2

. If the roots of the equation

a(b—-c)x*+b(c—a)x+c(@a-5b)=0

are equal, then which one of the
following is correct ?

(a) a,bandcarcinAP
(b) a, b and c are in GP
(c) a, b and c are in HP

(d a, b and ¢ do not follow any
regular pattern

L If |x2—3x+2 > x2_-3x+2, then

which one of the following is correct ?
(A x=slorx=2

b) 1sx<2

() 1 <x<2 '

(d) x is any real value except 3 and 4

. A geometric progression (GP) consists

of 200 terms. If the sum of odd terms
of the GP is m, and the sum of even
terms of the GP is n, then what is its
common ratio ?

(a) min
(b) n/m
(c) m+ (n/m)
(d) n+ (m/n)

A — BEM-D-HTM
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9. AfE UF W= 4 F 3 I9ga € SR g (@) —2+43
w99 B W 6 s §, @ (4UB) |

e Tora T & vea € 2 1 B
(©) -1++6
o @ -246
(b) 6
13. 3 x+a+b+c=0%, @
(e 8 x+a - b c
a x+b ¢ |WMHAFMHTT ?
(d 9 a b x+c
% el A e
B
IO.UFEW e H@TW% : (b) (a+b+c)2
(a) 48 (c) a*+b%+¢?
®) 40 (@ atbtc-2
28 il
5 14. afe A=[_1 i]%,ﬁaiaaa"A3—2A2
d) 20 ' v
() 2
1! 21 3 (2) TH LA AR
11. 2! 31 4 ? R
531 e WIREGY Tﬂmqm% OX BT
(c) A % SR
@0 (d) —A4 F TR
(b) 12
: ls.ﬂﬁiﬁﬁqﬁﬁmaﬁ'{n(m<n)'ﬂ'¥ﬁﬂn'@r
(c) 24 x2-16x+39=0a-77ff% | e m R n
@ 36 %Eﬁ?ﬁ,ﬂﬁﬁp,q,raﬁ'{siﬁﬂ?ﬂ(‘

W 9a § foF Tk 4P (gamag Aoft) ==

ST, Ap+g+r+sHF AT TS ?
12. x < A & AT THIHT

(a) 29
F 0. 20 13%. 02
2x 2 1|+|x* 2 1|=0 (B). 160
)L IS | O HE) | PP | (c) 32
H A FAR P ) 35
BEM-D-HTM - A 4
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9. If a set A contains 3 elements and

10.

11.

12.

another set B contains 6 elements, then
what is the minimum number of
elements that (4UB) can have ?

(a) 3
(b) 6
() 8
@ 9

What is the number of diagonalls of an
octagon ?

(a) 48

(b) 40
(c) 28

(d) 20

What is the value of the determinant
2830

21 " 31 4!
3! 41 5!

?

(@ 0

(b) 12

(c) 24

(d) 36

What are the values of x that satisfy the
equation

N e QN2 3x 0.2
2x 2 1|+[x* 2 1|=02?
TR VT L 0 S e

13.

14.

15.

(a) —2++3
(b) —1++3
© “1+46
(@ -2++/6

If x+a+b+c=0, then what is the
value of :

x+a b c

a x+b c
a b x+c

(@ o

®) (a+b+c)
(c) a*+b*+ ¢
@ a+b+c-2

?

1
If A=[ 1 J , then the expression
A -24% is
(a) a null matrix
(b) an identity matrix
(c) equal to 4
(d) equal to —4
Let m and n (m <n) be the roots of
the equation x*— 16x+ 39 =0. If four
terms p, g, r and s are inserted between

m and n to form an AP, then what is the
value of p+g+r+s?

(@) 29
() 30
() 32
@) 35

A — BEM-D-HTM
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16. fra uftsy & aeflm fama wfewo

117

18.

190

XZ+mx+2=0 % qA, T ATEI(IH
e BT ?

(@) 243<m?<38

) B3<m?<4

(c) m>=8

@ m?<43)
[f+—\/§j|2019+ I:i—«/g

2 2
T
(2 1

() -1
(c) 2i

@ —2i

2019
] <hl HIT T

Wﬁa?»ﬁ(ﬁ?l"ﬁ'ﬂﬂﬂ
RH+x+1=0FTAE,

3 (o +p) fores e # 2
Jj=0

(2 8
(®) o
(c) 4
@ 2

e faemem #, 50% B fshhe T €
3R 40% B Festa Qo © | 3R 10%
A I G Ed ®, ol feham wfawa
= A ar foebe Ted € sk A &
Fedia ?
(a) 10%
(b) 15%
(c) 20%
@ 25%

' BEM-D-HTM - A

21.

22.

23.

 20.7f% A= {x:0sx<2} 3R B={3; »

T&H A §E 8} ®, a1 ANB fras
TR § 7

@ @
®) {1}
© {2
@ {1,2

e x=1+i 8, A x5+x*+x2+1 &1

AA TS ? . -

(@) 6i+3

2+ A TR ?

(a) V2-1

(b) 2+1

() 3

@ 4

afe P(n,r)=2520 3R C(n, ) =21 %,
WCa+1,r+1)TMAFTFTTE ?

(@ 7

(b) 14

(c) 28

(d) 56
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16.

17.

18.

19.

Under which one of the following
conditions will the quadratic equation
x%+ mx + 2 =0 always have real roots ?

(a) 243<=m?<8
(b) V3sm?<4

() m>=8

(d m2<+3

What is the value of

i+\/§ 2019+ i—«/g 2019 ;
2 _ 2 :

(@) 1

(L)L
(c) 2i
(d) -2i

If a and B are the roots of

x2+x+1 =0, then what is
3

Z(ai +ﬁf) equal to ?
=0

(a) 8
®) 6
(c) 4
@ 2

In a school, 50% students play cricket
and 40% play football. If 10% of
students play both the games, then what
per cent of students play neither cricket
nor football ?

(a) 10%
(b) 15%
(c) 20%
@ 25%

20. f A={x:0<x<2} and B={y; y is

a prime number}, then what is ANB
equal to ?

(@ @
® {1}
() {2}
@ {1,2}

21. If x=1 + i, then what is the value of

XL E LI
(a) 6i-3
(b) —6i+3
(c) ~6i-3
(d) 6i+3

22. What is the value of

ot il ?
2+ L
1

24 ... 00 -

2+

(@ 2-1
(b) V2 +1

(c) 3
(d) 4

23. If P(n, ) = 2520 and C(n, r) = 21, then

what is the valueof C(n + 1, 7+ 1) ?
(@ 7

(b) 14

(c) 28

(d) 56

A — BEM-D-HTM
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24. (1 +2x +x2)5+ (1 + 4y + 4?)° & WER

2n
25, 7fe (xz +%]

26.

Ffraae g ?
() 12

(b) 20

© 21

@ 22

¥ WER W A UQ
184756x10 &, T » T ATA 94T & ?

(@ 10 |

(b) 8

) 5

@ 4

afe A:[é ?J 3ﬂ1‘B=G ﬂ ), @

frafafga A a s aradr © ?
(a) AB SR BA QI o1 Afered ©

(b) 7 AT AB =T e & 3R 71 & B4
<hl

(c) AB & aﬁna%, wfsr B4 =
sferca =e ® |

(d) AB @ sif&rea el ®, AfhT BAH
e @

BEM-D-HTM - A

27.

28.

aﬁn!?rljw%,a’rnmmw%?
(a) 95
(b) 85
(c) 80

(d) n < TET IS AT T ®

| «ifore foh 4UB =
{x|x—a)(x—b)>0, ST a<b} ® |
AR B fomtess as & ?

(@) A= {x|x>a} 3R B= {x|x> b}

. (b)) 4=1x|xga} IR B= {x|x>b}

29

(c) A= {x|x<a} 3R B= {x|x<b)}

(d) A= {x|x>a} IR B= {x|x < b}

x2

B, A kT A T O R E ?
@) 2
(b) =3
(c)LS

' 10
.afe [«/_——{5-) %mﬁﬁy—g’ 405

C @) +9

30.

C(47, 4) + C(51, 3) + C(50, 3) +
C(49, 3) + C(48, 3) + C(47, 3)
ferereh areR ® 7

(a) C(@47, 4)

(b) C(52, 5)
() C(52, 4)
(@) C47,5)

@ Teachingninja.in




24,

25.

How many terms are there in the-
- expansion of o

I+ 2+ + (1 +4y+472)° 2

(@) 12
() 20
(c) 21

(d 22

If the middle term in the expansion of

2n
| (x?- +%) is 184756x10, then what is

26.

the value of n ?
(a) 10
(b) 8

(c) 5

d 4

12 1 2
If A=12" 5/ and B=(2 I)’ then
3 4

which one of the following is correct ?
(a) Both AB and BA exist

(b) Neither AB nor BA exists

(c) AB exists but BA does not exist

(d) AB does not exist but BA exists

27. If n! has 17 zeros, then what is the

28.

29.

30.

value of n 7
(a) 95
(b) 85
(c) 80

(d) No such value of 7 exists

Let AUB =
{x|(;r —a)(x— b) > 0, where a < b}.

What are 4 and B equal to ?

(@) A= {x|x>a} and B = {x|x> b}
(b)-.fim{x|x<a} and B = {x|x > b}
(€) A= {x|x<a}and B= {x|x<b}

(d) A= {x|x>a} and B = {x|x<b}
If the constant term in the expansion of

x2

the values of k£ ?
(a) £2
(b) +3
(c) £5
(d) £9

10
(wf_ ——k—J is 405, then what can be

What is C(47, 4) + C(51, 3) + C(50, 3)
+ C(49, 3) + C(48, 3) + C(47, 3) equal
to ?

(a) C47, 4)
(b) C(52, 5)
(c) C(52, 4)
(d) C@47, 5)

A — BEM-D-HTM
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31, T AR R g, b c AP A E A0 347 Rt GP 3 iR, amad ok e

@mﬁmm%lﬁmﬁmﬁ% 92 T p, ¢ AR 8, A Frafafaa &
¥ T E 2 ST g AR R ? -
1. ka, kb, ke, AP® § @) D=
2. k—a,k—b,k—c, APHE
(b) 7?=pq
ar 'Nbs e
% B e e Hi (© par=1
H g 1T Fe H TET W T W @ 2g=p+r
: | z
(a) ael 1 X 2 35.x<4,y=03MR x<-4, y<O FT &
(b) SHeaer 2 3R 3 I
(c) *as 1 3R 3 . ‘ (@) x=-4,y<0
d 1,23R3 (b) x<4,y20
32. 9 @i it e seT 4 ¥ fwrsa (€ x<-4,y=0
A @d x=-4,y=0
(a) 21
(b) 22 36. afex1%8* > 7,56l x>0, al fr=falRaa
(©) 24 | A W TH R ® ?
(@2 | ] (a) x€(0, )
33. A9 R R 5, et AP 9 n TR0 ;
& antEd € | afe Sy, =3n+ 14n2 %, (b) xe.(? 7)
A aE HR T’ ?
(a) 3 ©) IE[O, l}ua )
(®) 6 i
© 7 :
@ 9 4l "E(”v’ )
BEM-D-HTM — A 10

@ Teachingninja.in



31.

32.

33.

Let a, b, c be in AP and k# 0 be a real
number. Which of the followmg are
correct ?

1. ka, kb, kc are in AP

2. k—a, k—b, k—c are in AP

are in AP

]

x| o

£
k

?:"lh

Select the correct answer using the
code given below :

(a) 1 and 2 only
(b) 2 and 3 only
(¢) 1 and 3 only

(d 1,2 and 3

How many two-digit numbers are
divisible by 4 ?

@) 21
®) 22
©) 24

@ 25

Let S, be the sum of the first # terms
of an AP, If S,,= 3n + 14n?, then what
is the common difference ?

@ 5
(b) 6
(c) 7
@ 9

11

34. If 31d, 8th and 13th terms of a GP are
P, q and r respectively, then which one
of the following is correct ?

(@ ¢*=pr
(b) =pq
(©) pgr=1

(d 2g=p+r

What is the solution of x < 4, y=0and
-4, y<07?

35.
(@ x=2-4,y<0
(b) x<4,y=0

() x=-4,y=0

(d x=-4,y=0

If x'°8;* > 7 where x > 0, then which
one of the following is correct ?

36.
(2)

x€(0, o)

(®)

D

A — BEM-D-HTM
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37. THIT X2 + 3|x| +2 =0 feran

38.

39.

eIt 7§ ?

(a) @

(b) T

(c) @

(d) IR

foama aieRo 4(x—p)(x—q) -2 =0,

Wﬁp,qﬁ?raﬁﬁﬂ?mg, ED
oy 7 fafafea = R if

1. 5% W@ ATTIS §

2.36% I @M ® Afg p=g 3R
r=0€f

Ideh § W A1/F FE T R/ 2
(a) &aa 1

(b) Fad 2

(c) 13R2ql

(d) T, R AT2

A= «ifoe fo6 §= {2,4,6,8, ........... 20}
2 S%awgﬂ?ﬁﬂ-arﬁmm

e ?
(@) 10
(b) 20
() 512

(d) 1024

BEM-D-HTM — A

12

40. T fgamamt @& (cdecddeceddd), _

41

42.

frefim & sct R, SRt c>d € | 5@
QA gl FT § ?

(a) 1848
(b) 2048
(c) 2842

(d) 2872

29 o
. gf¢ cosec= ~ SEl 0< 6<90°%,

4secB + 4tan@ HT AF HT § ?
(a) 5

(b) 10

(c) 15

@ 20

frrafafea @amt w fomr Hifs -

1. cos@ + secH F¥ 1 ' 1-5 %-W
S o Eehar |

2. tan@+ cotd TN M 2 F F9 qE A
e | '

SR 3 & 9 /A o w2/ 2
(a) *ad 1

(b) Haw 2

(c) 13 2QHt

(d) Fdr1RaE2
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37. How many real roots does the equation

38.

39.

x?+3|x|+2=0 have ?
(a) Zero
(b) One
(c¢) Two

(d) Four

Consider the following statements in
respect of the quadratic equation

4 -p)x-q)-r=0,
where p, ¢ and r are real numbers :

1. The roots are real

2. The roots are equal if p=g¢ and
r=0

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Let S= {2, 4, 6, 8, ..ccoo0ere 20}.
What is the maximum number of
subsets does S have ?

. (a) 10

(b) 20
(c) 512

(d) 1024

13

40. A binary number is represented by
(cdccddcccddd),, where ¢ > d. What is
its decimal equivalent ?

(a) 1848
(b) 2048
(c) 2842

(d) 2872

41. If cosecO= o1 where 0 < 8<90°, then

what is the value of 4secf + 4tanf ?
(@ 5

(b) 10

(c) 15

(d) 20

42. Consider the following statements :

1. cos6 +secO can never be equal
to 1-5.

2. tan@ + cotO can never be less than
2

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

A — BEM-D-HTM
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43. 9 m ¥l T Higl T Gs () &a5igrs
FATH 9m7ﬁ%@ﬁgﬁﬂ?t@ﬁ'qﬁﬁ
2 | 9Id F U A s=oeve 1 S9IT 60°

? | eavique Y I AT R 2
(a) 9m

(b) 10-5m

(¢) 13-5m

(d 15m

44. TS 99 1 IG SET S FG1$ T @ S
I % Hg R I HART At g ?

@ sinf2)
®) cos@]
© zm[g—)
@ 2cos[g]

45. tan{z tan'l(%)} fereres SR %_ ?

(@)

Slw wN

(b)

W

(c)

00 |

(@

\O | =

BEM-D-HTM - A

14

46.

-5 A a. ~ — - A -
a=i-2j+kaT b=4i -4]+7k

| R Hfeyw vE@g =T B ?

47.

48

(@ @

19
Qi
9

© 1

=

@ T | |
I A YR WA F AHEA T
IRATT S7h SR o IRATT & SKER ®,
A asR o ad g ?

(a) @iy THER

(b) wfew &= B

(c) wfew wfeaia] €

(d) wfexr s zord wfewr 2 =feg

.3 |yt 7 sk b ¥ frg frafiRea

et v frew A
L (m).(z_z).-. ‘
[28])(J5-))-

_.._}
+ a

W2
b

-3
a

12

Sl

- =2 —3
a+b a-—

\

2 2

s

2

3 3-7; E'xg

z:r
Ik § A A A wAT TR € 7
(@ 1,23R 3

(b) ‘Shaer 1 3R 2

(c) &= 1 3R 3

(d) aet 2 3K 3
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43.

45.

A ladder 9 m long reaches a point 9 m
below the top of a vertical flagstaff.
From the foot of the ladder, the eleva-
tion of the flagstaff is 60°. What is the
height of the flagstaff ?

(@ 9m

(b) 10-5m
(¢) 13-5m
(d 15m

. What is the length of the chord of a

unit circle which subtends an angle 0
at the centre ? :

o (0
® oo 7]
\,

W)
(c) 25111(5} |

"\

0
(d) 2 COS(E

/

What is tan{2 tan”'(%)} equal to ?

(@
(b)

(©)

0[Ww blw W|N

@

O | =

15

46.

What is the scalar projection of

G A AL - ~ A A
a=i1-2j+k on b=4i-4;+7k ?

V6
@
: 19
(DS
9
o] AT
(©) B
@ Y8
19

47.

48.

If the magnitude of the sum of two
non-zero vectors is equal to the magni-
tude of their difference, then which one
of the following is correct ?

(a) The vectors are parallel
(b) The vectors are perpendicular
(c) The vectors are anti-parallel

(d) The vectors must be unit vectors

Consider the following equations for
_)

two vectors a and b

L. fm;] (* )

2

2, 3+b}( E’] Iz’ = {7
§
2 2 2 2
3. Z-b + xf; 3 b

Which of the above statements are
correct ?

(a) 1,2 and 3

(b) 1 and 2 only
(¢) 1 and 3 only
(d) 2 and 3 only

A — BEM-D-HTM
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49, fr=fefaa w1 | fomr fifsg :

1. ax b < gREmr 98 & S wesh

2

‘ - L Ly THSBA L
2.°f Gxb=0 & 2£0, b+0

_, WM I=10p

Ab
SGh A | FA A1/ FAT 6 /€ ?
(a) e 1 |
(b) At 2
() 132
(@ AN1IRTRAN2

| s0.7f 7 o b wE ARy § o0 wRR

aﬁamaﬁw%,a’rsmz(g)ﬁmﬁem
29

(@

(b)

(c)

@

BEM-D-HTM - A

@ 3R b ar T Pt @ e

S1.

ETﬁHT{UTax+by+c=OU,?$W}@T'ﬂff
frefua = &

(a) | ATEafeash WEAEI a, b AR ¢ &
fi .

(b) heet T 5 a# 0 &

' (c) e T S b=0 |

52.

53.

(d) Faet ot 5 a R HH A FA A T
WS Th AR W

J@ran xcosd+ysi11a=a3ﬂ?
xsinf3 — ycosff=a '

< Sl T IO AT S ?

(@ p-a

b) #+p-a

© (:rz+2g+2a)

(m-2B+2c)

(d) 5

ﬁgaﬁ P(m cos2a, m sin2a) 3R
O(m cos2, m sin23) & &= I gt
® 7 '

(@) |2m sin(a - )|
(b) [2m cos(a - B)|
(c) |msina—2p8)|

(d). |m sinQRa —2B)|

@ Teachingninja.in



49. Consider the following statements :

50.

1. The magnitude of axb is same
as the area of a triangle with sides

=3
E"and b
2: If Zx_)=3 where 3#6,3:&3,

then 3=)l3

Which of the above statements is/are
correct ? '

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

b
If 2 and b are unit vectors and 6 is
the angle between them, then what is

sin? (g) equal to ?

|E+5‘2
(a) 4

|a-5[
(b) 2

© }E+5‘2'
2

! |a-5[
(@) 5

17

51. The equation ax + by + ¢ = 0 represents
a straight line

(a) for all real numbers a, b and ¢
(b) only when a # 0
(c) only when b = 0
(d) E)nly when at least one of ¢ and b
is non-zero
52. What is the angle between the lines

xcosa + ysina=a and
xsinf3 —ycosf=a?

(@ B-a
®b) n+p-a

0 (n+2g+2a)

(

@ (n—2§+2a)

What is the distance between the
points P(m cos2a, m sin2¢a) and
QO(m cos2f, m sin23) ?

53.

(@) |2m sin(o— P)|
(b) |2m cos(a—pB)|
(©) |msinQa-2p)|
(d) |m sinQa—2p)|

A — BEM-D-HTM
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54. T gHag s @ wE i (-1, 1) W

# ok g off (3, V3) ¥ | e
S el W & Hhar & ?

56.@%@1-mﬁﬁhﬁ§%ﬁ§aﬁm

(.p+1? p_3: ‘\/Ep) %7 G‘ﬁ P aﬁg
et e 2 | Yar H Regea

(feen-=ram=a) = € ?
@ (—2,+2) (a) % % %
' ' 1. N1t
(b) ('\/5, _’JE) } ;i (b) ‘JE’ E: E
¥ | 10
© (1,1) | (c) i

@ a,-1)

2 2 - x—-1 y=3 z+2
X y — —
5. 7f% defqw o425 =1 ¥ g F@ > SN T 7

sica forgent =, st ww wify & frem R femelt forg & fodumss © -
awﬁ%enﬁ%aﬁiaaraﬁw%%,ﬁrsa @ G5 4)
Gefga N Ishsar FT § 2 ®) @ 5, 5)
(C) (_1: _1:’ 5)
1
— dy @21t o
(@) 5 @ ( )
58. af Tar x—4=y—2=z—k San—
1 1 1 2
o 2 2x—4y+z=7 R @@, q k"W
e ?
© 3 @ 2
4 ®) 3
1 (c) 5
® 242 @) 7
BEM-D-HTM — A 18
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54.

An equilateral triangle has one vertex
at (-1, —1) and another vertex at

(—ﬁ, «.@) The third vertex may lie

- 0on

5S.

(é) (42, +2)
®) (V2. -+2)

© (1,1

@ @, -1)

If the angle between the lines joining

the end points of minor axis of the

o s ¢ b L

ellipse —2+-g2—- =1 with one of its foci
a

T

is —, then what is.the eccentricity of

the ellipse ?

1
(a) E

=8

(b)

©

by

|

(@

-

19

56.
: (P ik 1: pI_B’

~7

S8.

A point on a line has coordinates
V2 p) where p is any
real number. What are the direction
cosines of the line ? '

-

L
2 2)

N | =

(2)

(b)

5~
l\J“lb—*
B | =

L el

.JE H 2 2 2

Cannot be determined due to
insufficient data

©

G

A point on the line

-1 \y=312z+2
1 2 Te
has coordinates

(@ 3,5, 4

®) 2,5, 5)

() 1,-1,5)

@ @,-1,0)

x=4 y-2_z-k
TR

on the plane 2x — 4y +z =7, then what
is the value of k7

If the line lies

(@) 2

(b) 3
() 5
(@ 7

A — BEM-D-HTM
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S9.

60.

g (1, 1, 1) | oA Al TH TR W@
z-F& f geTcHe fewm & |9 60° &1
I FARH §, 3R Hb gRI y-3NE 3R
x-3& hit gTHS feumstt & @ig 99w
T HIOT & HIEIE A/3:1 & AU J
T | 36 @ i awifaa < &kt & o=
ST TR FAT R ?

(@) 90°
(b) 60°
(c) 45°

(d 30°

afe 415 (x, 3, -3), (2,0, 1) 3K (4, 2, 3)

_ @quﬁﬁ%,axaﬁ?y%

61.

A SHAYT: T © 7

(a)
(b) -1, 1

1, -1

(¢) 0,2

) 3,4

a? b’
+ &1 AGH HF T §,

cos’x sin’x

el a>03Rb>0%" ?

(@) (a+b)
(b) (a-b)
() a?+b?

@) |a*+ b7

BEM-D-HTM - A

20

62.

630

64.

gfe feredt Pt ABC & @101 AP (FHIR
A0) A E, IR b:c=+3:42 B, At
aﬁﬁAmmw% ?

(a) 30°

(b) 45°

(c) 60°

(d 75°

IS tand — tanB = x 3R cotB —cotd =y
®, al cot(d —B) &l A T § ?

T
oL

(©)

(d)
sin(a + ) — 2sina éosﬁ + sin(o —B)
forereh TR ® 7

(@ 0

(b) 2sina

(c) 2sinp

(d) sina+ sinf
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59. A straight line passes through the
point (1, 1, 1) makes an angle 60° with
the positive direction of z-axis, and
the cosine of the angles made by it
with the positive directions of the
y-axis and the x-axis are in the ratio

/3 :1. What is the acute angle between
the two possible positions of the line ?

(a) 90°
(b) 60°
(c) 45°

(d 30°

60. If the points (x, y, —3), (2, 0, —1) and
(4, 2, 3) lie on a straight line, then
what are the values of x and y respec-
tively ?

(@ 1, -1
® -1,1
(c) 0,2
d 3,4

61. What is the minimum value of

aZ bZ

+
cos’x sin’x

wherea>Qand b>07?

(@) (a+b)?
(b) (a-0b)
(c) a?+b?

(@) |a*+ b7

62. If the angles of a triangle ABC are in
AP and b:c=-\/§:ﬁ, then what is
the measure of angle 4 ?

(a) 30°
(b) 45°
) 60°

d) 75° -

63. If tan4 — tanB = x and cotB —cot4 =y,
then what is the value of cot(4 — B) ?

(a). l+—
X

(®) ~-=

© 2
@ Jlt+=
64. What is sin(a + f8) — 2sina cosf3 +
sin(cx — ) equal to ?
(@ 0
(b) 2sina
(c) 2sinf

(d) sino+ sinf

A — BEM-D-HTM
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65. Afe 2tand = 3tanB =1 &, ¥ tan(4 — B)
T s © ?

1
(2) E

(®)

| =

(c)

| =

(d)

O | =

66. cos80° + cos40° — cos20°
forass s ® ?

(@) 2
®) 1
() 0
(d -19

67.afe foreht B = 4ABC &1 & C @&
TR ®, Al tand + tanB ToEe SRR
??

a’-b?

(@ - s

(b)
(©

()

BEM-D-HTM - A

22

68.

69.

70.

71.

cot(%) - tan(g) Toreres e ® ? _

(a) tanAd
(b) cotd
(c) 2tand
(d) 2cotd

cotd + cosecA foraeh SR B 7

o o)
» cof 2
@ am(2)
(d) ZCot(-g«]

tan25°tan15° + tan15°tan50° +
tan25°tan50° foFaer s=R § 2

(@ 0
(b) 1
(c) 2
(@ 4
x| <5,y =03K y=8 g1 aherg (R
TQ) & A A T E ?
(2) 407 FahTE
(b) 80t TS
(c) 120 <Rt ZHTs
(d) 160 =t TS
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65. If 2tand =3tanB =1,

then what 1is
tan(4 — B) equal to ?

@ 1

(b)

| =

©

~J | -

@ +

66. What is c0580° + c0s40° — cos20°

equal to ?
(@) 2
(b) 1
(© 0
@ -19

67. If angle C of a triangle ABC is a right

angle, then what is tan4 + tanB equal
to ?

a’ - b?
ab

(2)

®)

@ =

23

68. What is cot[?} - tan(-';] equal to ?

(a) tand
(b) cot4
(c) 2tand

(d) 2cotd

69. What is cotd + cosec4 equal to ?

(2) taﬁ(g)
(b) cot[g)
(©) 2tan[§)

(d) 2cot ( gj

70. What is tan25°tan15° + tan15°tan50° +
tan25°tan50° equal to ?

(@ O

(b) 1
(c) 2
@ 4

71. What is the area of the region bounded

by |x| <5, y=0and y=87?
(a) 40 square units
(b) 80 square units
(c) 120 square units

(d) 160 square units

A — BEM-D-HTM
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72. x# 0 3R £(0) = 0 & foQ o 75.ﬁ|ﬂ%%ﬁﬁﬁaﬁ#mﬁama§qa

1) = sm[ ] ¥ W % frafile E“f(fl()xl f,% fof fO) =5, fE-1)=10
b S (@) 5x2-2x+5

L. lim fz) 1 e & (b) 32— 2r—5

2. x=0R f(x) §aq & - - (© 3x-2x+5
Wﬁ%ﬁﬁ%aﬁﬁm/@rwaﬁt%/%? ' (d) 3x2-10x+5

(@) Haet 1 itk

AT e (03) WAt 3 e fodar -

FHad
W P s < o,k ot o
(c) 13 2gmHt ‘ A U & ITGIN

(d) TA1RIR2 TF Ty =me"™, & m >0, y-5g H fog

P R Afcr=eg aar € |

73. Iim 22X _mrAam T ?
x—0 tan3x°

76. =g fog P W 95 6t wavEr ()

@ 5 SR
1 (@ m
' (b) '5 (b) m2
1 (©) 2m
©) 5 2
- (d) 2m
@ 1
77. P R @i @1 y-3E & ShITT
74, Adhd mﬁTmT QL 4 S
“73 4
& uma (feft) = @ 2 (b) cot'(1+m?)
(@) 1 Bty
(b) 2 (c) sin [ W]
(c) 3 : |
d) 4 (d) sec™!v1+m?
BEM-D-HTM — A 24
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72.

3.

74.

Consider the following statements in

respect of the function f(x) =sin(l} ‘
X

for x # 0 and f(0) = 0 :
1. lim f(x) exists
. x=0

2. f(x) is continuous at x=0

Which of the above statements is/are
correct ? :

(a) 1 only

(b) 2 only

(c¢) Both 1 and 2
(d) Neither 1 nor 2

What is the value of Ilim sinx® ?
x—=0 tan3x°
1
a —
(@) 2
1
(b) 3
1
C —
© 3
@ 1
What is the degree of the differential
L dPy Ay ? dty
equation F-{E) - x? e =07?
(a) 1
(b) 2
(c) 3
@ 4

25

75.

Which one of the following is the
second degree .polynomial function
f(x) where f(0)=5, f(-1)=10 and
f)=6?

(@) 5x2-2x+5
() 3x2-2x-5
(c) 3x2-2x+5

(d 3x2-10x+5

Directions for the following three (03)
items :

Read the following information and answer
the three items that follow :

A curve y=me™ where m >0 intersects
y-axis at a point P.

76.

77.

What is the slope of the curve at the
point of intersection P ?

(@ m

(b) m

() 2m

(d) 2m?

How much angle does the tangent at P
make with y-axis ?

(2) tan'm?

(b) cot'(1+m?)

©) sin"( Jl—-il-—mIJ
(d) sec”' 1+ m*

A — BEM-D-HTM
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78. Pwaﬁ-ﬁmﬁmrﬂaﬁmw

dx
. _ e et 2
@ y=mx+m
(b) y=-mx+2m (a) tan"(2x~1)+c

() y=m?c+2m %

d) y=m%+m |
- (b) 2tan”'(2x-1)+c

TR R (02) Wet 3 v filr «

frafofed guen =1 afen sik amt o @@ tan~! (2x +1)

2 7 3 v G s g
L it 6 f(x) =22 g(x)=tanx 3R _

h(x)=Inx T | (@) tan'(2x-D+c

79. x = % & 1T [ho(gof)](x) &1 wF Fa1

® 7 gt jx(1+lnx) w%(nil)?
@@ 0
®) 1 e
¢ e R
(c) 2
T 1-n
(d) _2" (b) m‘l‘c

80. [ fo( fof)](2) ferarss sTe & ?

n+l

(a) 2 (c) W"'C
) 8 |
(c) 16
@ - ! +e
(d) 256 (n=1)(1+In x)""
BEM-D-HTM - A ' 26
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78. What is the equation of tangent to the
curve at P ?

(@) y=mx+m
(b) y=-mx+2m
(c) y=m*x+2m

@ y=mix+m

Directions for the following two (02) items :

Read the following information and answer
the two items that follow :

Letl f(x) =x2, g(x)=tanx and h(x) =Inx.

79. For :x=-£_£, what is the value of

[ho(gof)](x) ?
(@ 0
b 1

T
(e Z

19

@

80. What is [ fo( f2/)1(2) equal to ?
(a) 2 | |
(b) 8

(©) 16
(d) 256

27

81. What is _[

(a)

®)

(c)

(d)

equal to ?
2x? _-2x+1 2

=1 o
tan (;Zx 1)+c

2tan”' (2x—1)+¢

tan (2x+1) iy

tan'(2x—-1)+c

82. WhatisJ._#L-— equalto(n#1) ?

(2)

(b)

(d)

x(1+Inx)"

: +cC
(n—1)(1+Inx)""

Ll s
(1+Inx)""

n+1
(1+In x)™*!

+c

C(n-)(A+in il

A - BEM-D-HTM
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83. s 3 & g sy TR S
1

85. x—l‘T( %ﬂ%ﬁtﬁt%?

m%sﬁ'aﬁ‘gﬂ y—2 am Th
S 7 2, = frefig a & 7 M
®) 1
dy _ (c) 2
(a) Ex__4xy2 C)
(@) 4
e e - ' s
T FEE W (03) WAt % forg Frar
| . ﬁm%%aqamaﬁq%qaﬂtaﬁmaﬁ
© £y_=xzy ?ﬁwmﬁ%aﬁza&m
dx
B f(x) = g(x) + h(x) R f=R Hfm, sw=d
(d) %%—4;}'2 : glx) = 3111( )3ﬁ1h(x) cos[45x] T
86. T g(x) 1 Smadeer (i) T
AT 3 (02) WAt ¥ Rrg il Roung
freafafea gear @ oy ok s sy A &
Q@ wEE & IR A . (b) 2z
FHERT 37 = ¥ 9% o= i (©) 4z
\ (d) 8=
84.x=lﬂt%ﬁﬂ%w%? 37?:[},(@@3“33{3“;{(%3)%
5
(@ 0 (@ «
) 47
®) 1 _ (b) =
57
© 2 O
3w
@ 4 g i)
BEM-D-HTM — A 28
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83. Which one of the following is the
differential equation that represents the

family of curves y= where ¢

2x*—c

is an arbitrary constant ?

@ Z-4zy
(b? %,':
(c) %=x2y

@ %r#xyﬁ

Directions for the following two (02) itenis :

Read the following information and answer
the two items that follow :

Consider the equation x” = e*”

84. What is Zx_y at x=1 equal to ?

(@) 0
(b) 1
(c) 2

(d) 4

29

85. What is =2 at x=1 equal to ?
dx

@@ O
(b) 1
(c) 2
.(d) 4

Directions for the following three (03)
items :

Read the following information and answer
the three items that follow :

" Consider the function f(x) = g(x) + k(x)

where g(x) = sin[%) and A(x) = cos(%)

86. What is the period of the function
gx)?

(d) =
() 27
(c) 4n
(d) 8=

87. What is the period of the function
h(x) ?

(@ =

®) ==
()

d —

A — BEM-D-HTM
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ssw;f(x)awamﬂ-ﬂa(qﬁﬁug)w
T

(@) 10z
(b) 20z
- (¢) 40r

(d) 80x

AETR 3 (02) WAt 36 form sy

Frefrfed geem = wf sk sm s T
3 Wt 3 TR A

BT (%) = 3% — 205 — 12x2 + 288x + 1

R R $Hifs

89.ﬁ17ff%-r%a ﬁ q form siate & s
JHA © 7

@ (-2,3)
®) G, 4)
© 3,2
@) (-4,-3)
90. Frafafae & ¥ fra st A wem
B € ?
@) €2, 3)
) (3, 4)
© 4 6)

(d) (6,9)

BEM-D-HTM - A

30

AT A (03) WAt % forg fdar

Freafies s < o e anh o
ft T ¥ IR G -

A wifora -
S&x) =22 +2x -5 3R g(x) = 5x+30%

91.

THIR g (x)] = 0 % qeF 77 & ?
(@)el=l

(b) -1, -1

(c)1te]

(@ 0,1

92.

93.

ffafea Fadt w fer Sifc .
1. 7[gx)] 1 3 7 Toh =gws |
2. g[g(x)]m'za:rqaaa'g'ﬁa 3
e 3 & W a1/ w2
(a) Fad 1 |
(b) Had 2
© 13K 23t
(d) TA1ARAE 2
AR h(x) = 57() - xg) & A ey 0
Faeherst T © ?
(@) —40
(b) 20
() -10

@ 0
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88. What is the period of the function
f0)?

(a) 107
(b) 20z
(c) 407
(d) 807

Directions for the following two (02) items :

Read the following information and answer
the two items that follow :

Consider the function
Sf(x) =3x* - 20x> — 12x%+ 288x + 1

89. In which one of the following intervals
is the function increasing ?

@ 23
®) G, 4
© 3,-2)

@ 4-3)

90. In which one of the following intervals
is the function decreasing ?

@ (2 3)
b) 3,4
(©) (4, 6)
d (6, 9)

31

Directions for the following three (03)
items : :

Read the following information and answer
the three items that follow :

Let f(x) =x*+2x— 5 and g(x) = 5x + 30

- 9L

92.

93.

What are the roots of the equation
glfx)]=07? '

(@ 1,-1

(e)ial 3l
@ 0,1

Consider the following statements :
1. f[g(x)] is a polynomial of degree 3.
2. g[g(x)] is a polynomial of degree 2.

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

If h(x) = 5f(x) — xg(x), then what is the
derivative of A(x) ?

(a) —40
(b) —20
(c) -10
(d 0

A - BEM-D-HTM
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AR 7 (02) WeAt % Forg Fder -
freferfa gaem =1 wfey sk am s arer

qATRAAT

1= [F_xdx [ (m—x)dx
' Jo 1+sinx L .[0 1 —sin(7 + x)
R fo=r S

94. I, = A 4T © ?

9s.

96.

(a) 0

7
(b) =

© =

d 2=

L+LF AR T ?
(a) 2xn
b) =

- 7
(©) 5

@ o

tan y = ¢(1 — €) GRT 4T T a5h-5eA
Trefa = T sEwa e ©
(a) e*tanydx+(1—e%dy=0

(b) e*tan ydx+ (1 - e*)sec’ydy =0
(€) e* (1 -e¥dx+ tanydy =0

(d) e*tanydy+ (1 —e%dx=0

BEM-D-HTM — A

32

97.

98

- f@=1k

99.

sin x % ¥ & 260 ? 7 s T

g7

(a) sinx260%) g
(b) 2sinx 26 [ 4 |
(c) In(sinx) 26’ |

(d) 2sinx cos x 26in %)’

- k% fom w1 % forg e

"

.’2.}17+l <0
4

, x=0 §IT B ? -

1)
(x+—) S x>0
! 2

(@)

B =

(®)

ik NI,_,

©
@ 2

Ih 2 =2x IR TERET y=x &
qfterg &= &1 SFed 991 © 7

(a) %‘q‘fwﬁ
4
() %Eﬂfsaﬂé

(d) 1 gehrd
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Directions for the following two (02) items :

Read the following information and answer
the two items that follow :

Consider the integrals

i ] T i
I, =J‘ xd'x adlr =J‘ (717' x)dx
0 1+sinx 0 1—sin(z +x)

94. What is the value of 1; ?
(a) 0
' Y[
(b) 5

(c) =
(d) 2«

95. What is the value of J; +1, ?
(a) 27
() =
/4
C —_—
(©) 5
@ 0

96. The differential equation which repre-
sents the family of curves given by
tan y =c(1 —e*) is

(a) e*tanydx+(l—-e9dy=0
(b) e*tan ydx + (1 —e")secydy =0
(c) e*(1-¢e¥)dx+tanydy=0
@ e tanydy+ (1 —e)dr=0

33

 97. What is the derivative of 20 x? with

respect to sinx ?

(a) sinx 20" 14
(b) 2sinx 269" 4
(©) In(sinx) 2600 =’

(d) 2sin x cos x 26 %y’
98. For what value of k is the function

2x+—1~ x=10
4

f(x)=<Fk : , X= 0. continuous ?

(2)

B =

(®)

B | —

) 1

@ 2

99. What is the area of the region enclosed

between the curve »*=2x and the
straight line y =x?

(a) % square units

W s

square units

(b)
1 :
(©) 3 square units

(d) 1 square unit
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loo.w%f(x)=?~%+6x+7aimrﬁ

101.

102.

x3 2

THAE R 3R sioker § F e €, @
e i dan o € 2

(@) T=(-,2)U(3,0)3RS=(2,3)
(b) T=¢ 3R §= (-, )

(€) T=(-, ) R S=¢

@ T=(2,3) 3R S=(w,2)U(, )
T T @ weR aftma (qeErdragt)
? T o5 g s A GwmEAr =5 we
T < FHTEAT H G A A TR

=0 R & 9 e soE |, st Y
Fiftres Q1 U2 I i AT = § 2

(a) 0-16
(b) 0-48
(c) 0-58
(d) 098
T Ior 7 20 forae € R & 5 fras
e § | Al 3 fRart argswan (W)
T STl €, 3R A9 ® A T e
& wHar freet st €, @ =

wilrar & fof @it Al fraret wwe
;o

(a) 0-009
(b) 0-016
(c) 0-026

(d) 0-047

BEM-D-HTM - A
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103. RS 7 % R gy dewit ()

104.

105.

22,24,33,37,x+ 1, x+3, 46, 47, 57,
58 it wferer (Hifea) 42 2 | uisd
IR B et F 7T FAW: FTE ?
(a) 42, 45

(b) 41, 43

(c) 43, 46

(d) 40, 40

10 &0t ST TR AIET 60 B, 3R 50 |
fEeet & @t & ATHT 5000 T |
et 1 W faeem v R ?

(a 20

(b) 21
(c) 2236

) 2470

Tfe p 3T g wfiEor 22 - 30x + 221 =0
F A €, AN pd+ g AR FATR ?

(a) 7010
(b) 7110
(c) 7210

(d) 7240
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100.

101.

102.

x> 5x?

If f(x) =?——:—2-—+6x+7 increases in

the interval T and decreases in the
interval S, then which one of the
following is correct ?

(a) T=(-w,2)U (3, ) and S= (2, 3)
(b) T'=¢ and S= (-, )
(¢) T= (-, ©) and S=¢

() T=(2,3)and S=(-,2)U (3, .oo)

A coin is biased so that heads comes
up thrice as likely as tails. For three
independent tosses of a coin, what is
the probability of getting at most two
tails ?

(a) 0-16
(b) 0-48
(c) 0-58

(d) 098

A bag contains 20 books out of which
5 are defective. If 3 of the books are
selected at random and removed from
the bag in succession without replace-
ment, then what is the probability that
all three books are defective ?

(a) 0-009

(b) 0-016
() 0-026

(d) 0-047

35

103.
- 33,37, x+1, x+3, 46, 47, 57, 58 in

104.

105.

The median of the observations 22, 24,

ascending order is 42. What are the
values of 5th and 6th observations
respectively ?

(a) 42,45
(b) 41, 3
(c) 43, 46

(d) 40, 40

Arithmetic mean of 10 observations is
60 and sum of squares of deviations
from 50 is 5000. What is the standard
deviation of the observations ?

(a) 20
(b) 21
(c) 22:36

(d) 2470

If p and g are the roots of the equation
x2 — 30x + 221 = 0, what is the value of
pP+e’? |

(a) 7010
(b) 7110
(c) 7210

(d) 7240

A — BEM-D-HTM
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106.

W x 7Ry & forg, g @K
6x+y=30 3R 3x+2y=25% | X,y

AR A

107.

108.

(@ ?, %, -05
(b) 339, %, 0-5
(© -3;—5, %9, -0:5
@ 2,2, 0s

T SRARAT gRolt & g " (=t
3F) 5, 10, 15, 20, 25, 30, 35, 40, 45,
50 fou g ® | vt Wi =t () i
=it €@ (e forfie) €

(@ 3-7, 7-13, 13-17, 17-23, 23-27

(b) 2-5-7-5, 7-5-12-5, 12-5-17-5,
17:522-5, 22:5-2 78

(c) 1-5-8-5, 8-5-11-5, 11-5-18:5;
18-5-21-5, 21-5-28-5

(d) 2-8, 8-12, 12-18, 18-22, 22-28

9 YU WEm 4.4 ®, R WERO
824 % | afe uiw { ¥ f= =y 1, 2 3k
6 €, A 37 Q1 ewr @ § ?

@ 9, 16
(®) 9,4
(c) 81, 16

(d) 81,4

BEM-D-HTM - A
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110.

T STl §, At wfueyl @i ([ege
) 1§ ?

(@ {H}
(b) {TH}

. () {T, HT, BHT, HHHT, ............. }
(d) {H, TH, TTH, TTTH, ............ }
frrafafaa fofs (saq) sRewar
Fed R fEr difsre .
x|1|240 | 4|5]|617]8
f13115(45(57|50(36(25(9
e it Wifgmm (Hifeam) = 7= w=n
R7?

(a) 4
(®) 5
(c) 6
@ 7

111.

QU T A9 ek IQ € | 39 oG
wifderar w1 @ fF 97 W wee BN
(M) awlt Gt & ANGT U
AT T § 7

5
(2) E
1
(b) Y
7
(c) 1—2'

2
(@ %
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106. For the variables x aﬁd y, the two

regression lines are 6x+y=30 and
3x +2y =25. What are the values of

X, y and r respectively ?

@ 2,3 -0
® 3. 305
© 392, -239, ~05
(d) %, %, 0-5

107. The class marks in a frequency table

are given to be 5, 10, 15, 20, 25, 30,
35, 40, 45, 50. The class limits of the
first five classes are

(a) 3-7, 7-13, 13-17, 17-23, 23-27

(b) 25-7-5, 7-5-12:5, 12:5-17-5,
17-5-22-5, 22-5-27'5

(c) 1-5-8:5, 8:5-11-5, 11-5-18-5,
18-5-21-5, 21-5-28:5

(d) 2-8, 8-12, 12-18, 18-22, 22-28

108. The mean of 5 observationé is 4-4 and

variance is- 8-24. If three of the five
observations are 1, 2 and 6, then what
are the other two observations ?

@ 9,16
(b) 9,4

(c) 81, 16
(d) 81,4

37

109.

- 110.

111.

If a coin is tossed till the first head
appears, then what will be the sample
space ? '

(a {H}

(b) {TH}

(¢) {T, HT, HHT, HHHT, ............... }
................ )

(@) {H, TH, TTH, TTTH,

Consider the following discrete fre-
quency distribution :

x |1 |2QS | 4 |5|6]7 |8

15 |45| 5750|3625 (9

SRS

What is the value of median of the
distribution ?

(@ 4

®) 5

(c) 6

@ 7

Two dice are thrown simultaneously.
What is the probability that the sum of

the numbers appearing on them is a
prime number ?

S

(2)
(b)

3
2
7
c)  —
8
2

@ 3
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112. 7fe et St 3 10 Recfiadt oot 7 & mﬁmﬁ%ﬁqm/ﬁma@r P
5 ¢ IS AR I G (T 1) . _ ‘%/%’

T FRA AR 3 ¢ W= o forg ¥ W (a) e 1
®, = wiferar 2Rl i 5 T
¥l o ST HIFRT ST T TR HAT ? (b) e 2
: _
@ 2 (©) 13k22n
3 |
(b) = (d) TAT 1 ARAE 2
09 s ( ‘
12 . 115. Af¢ ww =mEma (fFs9&) w4 5R)
(d).i o KA wm‘é,aﬁwwﬁw%ﬁﬁ
4 ) TET Sh-3eh 2 T: 3 WY ?
113. T e & 3 fores ¥ | uw e M1
IR 5@ amn @; qua R = (2) o
(fFreqer) 2; sk drexr R st 216
'%qmgf;ggmﬁﬁ%mﬁam >
| v i T e ag=gan » s
(F=w) T S @ 3R S o R, 216
O SaH o st R | wn wifear € 6
g oMt 3R i arer Rt a7 2 (©) =
216
@ =
175
Wos @
5
(© g— 116. 100 Y&wit & #71EA 50 © AR A
5 femrem 10 ® | afe v Y& 7 5 S
(d)-é- fear s, @ s wEm SR AT WA
PR a7 R : feraer smar: o B ?
1. 9f¢ 4 3R B weR smaffa e (@) 50, 10
% @ IE @E § fF P4) = P(B)
=0-67% | (b) 50, 15
2.3f¢ 4 3R B ¥ W weAn _
W TR € 5 P =12, @ (€) »52; 10
P(B|A)=1% | @ 55,15
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112. If 5 of a Company’s 10 delivery trucks

do not meet emission standards and 3
of them are chosen for inspection, then
what is the probability that none of
the trucks chosen will meet emission

standards ?

(@)

(®)

colw 0o

s

© 3

@ 5

113.

114.

There are 3 coins in a box. One is a
two-headed coin; another is a fair coin;
and third is biased coin that comes up
heads 75% of time. When one of the
three coins is selected at random and
flipped, it shows heads. What is the
probability that it was the two-headed

coin ?

@ >
® 3
© 3
@ 2

Consider the following statements :

1. If 4 and B are mutually exclusive
events, then it is possible that
P(A) = P(B) = 0-6.

2, If A and B are any two events such
that P(4|B) = 1, then P(B[A) = 1.

39

115.

116.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

If a fair die is rolled 4 times, then what
is the probability that there are exactly
2 sixes ? '

5

@ 3%
25

® 716
125
© %6
175

(Y] 516

Mean of 100 observations is 50 and
standard deviation is 10. If 5 is added
to each observation, then what will
be the new mean and new standard
deviation respectively ?

(a) 50, 10

(b) 50, 15

(c) 55,10
(d) 55,15

A — BEM-D-HTM
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117.

118.

afs fedt =R X o el & o wgsaa
S () 25 ¥R AR Y=40+3X
& W Y TR T Yeut &% T H1
TR ?

(a) 25

(b) 40
() 75

) 115
afe veelt 15 gyl dEEt @ e v

AR wmem M R, @ v+ M2 fras SR
g7 |

@ 2

©)—
€

(d

BEM-D-HTM — A

119.

120.

T &R 98l 60 km, 3v km/hr & 917 &
TG EA § T I 60 km, 2v km/hr
@ AT ¥ T AR § | HR s
|7 T § 7

(a).Z{hfknﬂhr

(b) 2-4v km/hr

(c) 2-2v km/hr

(d) 2-1v km/hr

Rt @ A 150 B & She awH
60 kg & | @el & 3Ed a9 70kg
3 wreferat o sfted a9 55kg ® |

Fen § e AR wsfRal @ wen
FAy: TR 2 2

(a) 753K 75

(b) 50 3 100
(c) 70 3 80
(d) 100 3K 50
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117. If the range of a set of observations on

a variable X is known to be 25 and if
Y =40+ 3X, then what is the range of
the set of corresponding observations
on Y?

(a) 25
(b) 40
(c) 75

@ 115

118. If V is the variance aﬁd M is the mean

of first 15 natural numbers, then what
is ¥+ M? equal to ?

) ==

®) —

(CIMs=w

(d)fns=

119.

120.

A car travels first 60 km at a speed
of 3v km/hr and travels next 60 km at
2v km/hr. What is the average speed of
the car ?

(a) 2-5v kmvhr
(b) 2-4v km/hr
(c) 2-2vkm/hr

(d) 2-1v km/hr

The mean weight of 150 students in a
certain class 1s 60 kg. The mean weight
of boys is 70 kg and that of girls is
55 kg. What are the number of boys
and girls respectively in the class ?

(a) 75 and 75
(b) 50 and 100
(c) 70 and 80

(d) 100 and 50

A — BEM-D-HTM
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NDA & NA EXAM-II-2019

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO 50

T.B.C. : BEM-D-HTM Test Booklet Series

TEST BOOKLET
Lﬂw MATHEMATICS

-
Time Allgwed : Jowo "Tours and Thirty Minutes Maximum Marks : 300

IPr‘intEd by Miitahel INSTRUCTIONS

1.

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DQES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC, IF 80, GET IT REPLACED BY A COMPLETE TEST
BOOKLET,

Please note that it is the candidate’s responsibility to encode and fll in the Roll Number and

Test Booklet Series Code A, B, C or D carefully and without any aotission or discrepancy at

the appropriate places in the OMR Answer Sheet. Any omission 'discrepancy will render the

Answer Sheet liable for rejection.

You have to enter your Roll Number en the

Test Booklet in the Box provided alomgside

DO NOT write anything efse on the Test Booklel

This Test Booklet contains 120 items (questions). Bach item is printed both in Hindi and English,

Each item comprises four responses (answers). You will select the response which you want to

mark on the Answer Sheet. In case you fecl that there is more than one corect response, mark the

response which you consider the beést In mny case, choose OWLY ONE response for each ilem

You have to mark all your responses @NVLY on the separate Answer Sheet provided. See directions

in the Answer Shect.

All ftems carry equal marks,

Before you procesd to mark in the Answer Sheet the response to vanous items in he Test Booklet,

you have o fill in some particulars m the Answer Sheet as per mstructions sent 10 you with your

Admission Certificate.

After you have completed filling in all your respanses on the Answier Sheet and the examination has

concluded, you should hand over to the Invigilator enly the Answer Sheet. You are permitted to take

awny with you the Test Booklet

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong Answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYFPE QUESTION PAPERS,

(i) There are four alternatives for the amswer 1o every question, For each question for which
a wrong answer has been given by the candidate, ome-third of the marks assigned 1o (hat
question will be deducted as penalty.

(i) I a candidate gives more than one answer, il will be treated 25 3 wrong answer even if one
of the given enswers happens 1o be comect and there will be same penalty as above 1o that
question

(i) IF a question is left blank, i.e., no answer is given by the candidate, there will be no penabty
for thet question,

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO S0
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